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BEHE HEER AR i BEHE HEER AR i
RBEE 3,786, 828 4,075, 679 A288, 851 mENEME 1,125, 086 1,436, 881 A311,795
REEE 3, 658, 928 4,012,179 A353, 251 Kihg 958, 052 1,112,855 A154, 803
HE 3, 658, 928 4,012,179 A353, 251 BHYE 167, 034 324, 026 A156, 992
RiunE 127,900 63, 500 64, 400
BEEE 30, 504, 142 28,813,419 1,690, 723| BEE&E 16, 050, 325 15, 139, 825 910, 500
EAXME 1,000, 000 1,000, 000 BEEMASISE 16, 050, 325 15,139, 825 910, 500
EHFEE 1,000, 000 1,000, 000 BRI E 16, 050, 325 15,139, 825 910, 500
Z DD EEE E 29,504, 142 217,813,419 1,690, 723 REDCHEE 17,175, 411 16, 576, 706 598, 705
EHEME 1 1 HREDE
FERUVEMR 608, 299 750, 691 A142,392( EXE 1,000, 000 1,000, 000
VIbkozx7T 232,980 318, 303 AB5,323] EHX#E 1,000, 000 1,000, 000
HMBERS 109,000 104, 000 5,000 EEHBISEHAEIS 120, 411 154, 05 £33, 684
BEEMASILERE 16, 050, 325 15, 139, 825 910, 500| ZDithDEIE 12, 503, 537 11, 500, 599 1,002, 938
ZOMDEEEILIEE 12,503, 537 11, 500, 599 1,002,938 fRULEEHEIE 5,503, 537 3, 000, 599 2,502, 938
BIFRITHELE 4, 000, 000 6, 000, 000 A2,000, 000
HEEALREILE 2,000, 000 2,000, 000
KERRISHEILE 1,000, 000 500, 000 500, 000
REPIEHEBNIS B EER 3,491, 611 3,657, 698 A166, 087
(55 LHFBRELR 835, 778 308, 711 527,067
MEEDEEE 17,115, 559 16, 312, 392 803, 167
BEEDMEET 34,290, 970 32, 889, 098 1,401,872 BBERVHEEDRS 34,290, 970 32, 889, 098 1,401, 872
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